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KARTSBA  
 

 ,naupmereP majniP napmiS margorP adap namajniP halmuJ huragneP
 natapadneP padahret ahasU amaL nad naknabreP agabmeL adap namajniP

 gnalegaM netapubaK rawulgN natamaceK rawulgN aseD id takaraysaM
hagneT awaJ  

 

aniratkO airT  
amrahD atanaS satisrevinU  

4102  
 
 

 namajnip halmuj huragnep sisilanagnem kutnu naujutreb ini naitileneP
 agabmel adap namajnip halmuj ,naupmerep majnip napmis margorp adap
 ahasu kilimep nednopser nagned ,natapadnep padahret ahasu amal nad naknabrep

gN aseD id  hagneT awaJ gnalegaM netapubaK rawulgN natamaceK rawul  
 adap nakukalid gnay fitanalpske naitilenep sinej nakapurem ini naitileneP

 rebmetpes nalub –  nalibmagnep ,nednopser 08 lepmas halmuJ .3102 rebotko
“ kinhet nakanuggnem lepmas naR deifitartS lanoisroporP gnilpmaS mod  kinkeT .”

 iju itupilem taraysarp ijU .renoisiuk nakanuggnem nagned atad nalupmugnep
 ,satireinilokitlum iju itupilem gnay kisalk ismusa iju nad satireinil iju ,satilamron

 nagned atad sisilana kinkeT .isalerokotua iju nad satisitsadeksoreteh iju  iserger
 .adnagreb reinil  

 adap namajnip halmuj huragnep adA )1( : nakujnunem naitilenep lisaH
( natapadnep padahret naupmerep majnip napmis margorp eulav ngis  <400,0=

 padahret naknabrep agabmel adap namajnip halmuj huragnep adA )2( .)50,0=α
 ( natapadnep ngis  eulav =  padahret ahasu amal huragnep adA )3( .)50,0=α <000,0

 huragnep halada  raseb gnilap huragneP .)50,0 α<230,0=eulav ngis ( natapadnep
 neisifeoK .natapadnep padahret naknabrep agabmel adap namajnip halmuj

R ( nanimreted 2  nakitraid tapad 215,0 rasebes )  adap namajnip halmuj awhab
 naknabrep agabmel adap namajnip halmuj ,naupmerep majnip napmis margorp

 .% 2,15 rasebes natapadnep lebairav naksalejnem tapad ahasu amal nad  
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TCARTSBA  

  

’NEMOW NI TNUOMA NAOL FO ECNEULFNI EHT  DNA GNIVAS S
 EHT OT DOIREP SSENISUB DNA ,NAOL KNAB ,MARGORP GNINAOL

 RAWULGN ,EGALLIV RAWULGN NI YTEICOS EHT FO EMOCNI
AVAJ LARTNEC ,YCNEGER GNALEGAM ,TCRTSID  

 
aniratkO airT  

atrakaygoYytisrevinU amrahD atanaS  

4102   

 ecneulfni eht ezylana ot demia yduts sihT  s’nemow ni tnuoma naol fo
 eht fo emocni eht ot doirep ssenisub dna ,naol knab ,margorp gninaol dna gnivas
 ,tcirtsid rawulgN ,egalliv rawulgN ni srenwo ssenisub eht erew ohw ,stnednopser

 .avaJ lartneC ,ycneger gnalegaM  
craeser yrotanalpxe na saw yduts sihT  rebotcO ot rebmetpeS ni detcudnoc h

“ gnisu yb detceles stnednopser elpmas 08 erew erehT .3102  lanoitroporp
gnilpmas modnar deifitarts  hguorht detcelloc erew atad ehT .euqinhcet ”

a ytiraenil ,tset ytilamron eht dedulcni tset etisiuqererp ehT .seriannoitseuq  dn
 ,yticitsadecsoreteh ,ytiraenillocitlum fo detsisnoc taht stset noitpmussa lacissalc
 raenil elpitlum gnisu yb dezylana neht erew atad ehT .stset noitalerrocotua dna

.snoisserger  
 ni tnuoma naol fo ecneulfni na saw ereht )1( :taht dewohs stluser ehT

'nemow  = eulav ngis( emocni ’stnednopser eht ot margorp gninaol dna gnivas s
 ngis( emocni eht ot tnuoma naol fo ecneulfni na saw ereht )2( ;)50.0 = α < 400.0
 doirep ssenisub fo ecneulfni na osla saw ereht )3( dna ;)50.0 = α < 000.0 = eulav

cni ’stnednopser eht ot  ecneulfni tseggib ehT .)50.0 = α < 230.0 = eulav ngis( emo
 ehT .emocni ’stnednopser eht sdrawot naol knab fo tnuoma eht ni dnuof saw
 ni tnuoma naol eht taht naem dluoc 215.0 fo )2R( tneiciffeoc tnanimreted

nuoma naol eht ,margorp gninaol dna gnivas s'nemow  eht dna ,knab eht fo t
 .elbairav emocni eht fo % 2.15 nialpxe dluoc doirep ssenisub   
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